Brain
Teasers

Answering brain teasers can improve your lateral
thinking, creativity, and logic. Plus, they can be a
lot of fun even if you find yourself saying, “Doh!”
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Before Mount Everest
was discovered,

what was the tallest
mountain in the world?

What common
eleven-letter

word is always
spelled incorrectly?

o

ANSWERS: A: Mount Everest B: Incorrectly. C: The letter H.
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How can you go
for eight days
without sleep?

If you have two bills in
your hand that add up to
$25 and one isn’ta $5 bill,
what bills do you have?

If Megan had 4 piles of sand and
Molly had 5 piles of sand, and
they put them all together, how
many piles would there be?
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Two boys played 7 games of
checkers. Each wins five games
and yet there were no ties or
draws. How can this be?

Four football linebackers
were able to stay dry while
standing under one umbrella.
How could this be?

If you’rerunning a race and
pass the person in 2nd place,
what place are you in?

ANSWERS: A: They didn't play each other. B: It wasn't raining. C: 2nd place.
If you pass the person in the first place, you'd be in the first place.

ANSWERS: A: Sleep at night. B: One twenty and one five-dollar bill — One isn't a
five-dollar bill, but one is! C: One! Duh, they put them all together.
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How long is the
answer to this
question?

Michael’sfather had
three sons: Snap,
crackle and.... who?

Imagine you are falling into
a deep hole full of poisonous
snakes and ferocious tigers.
How would you survive?
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A boy kicks a soccer ball.
It goes 10 feet and comes
back to him. How is this
possible?

A rancher had 500
cows and took one
shot that got them all.
How did he do it?

There was a terrible plane
crash, every single person on
board died, but yet two people
survived. How is this possible?

ANSWERS: A: He kicked in up in the air right above him. Gravity! B: Using a camera,
the rancher took a panoramic photo. C: The surviving couple was married.

ANSWERS: A: How long. B: Michael C: Stop imagining.
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Fred fell from a ladder How can a man who
20 feet high. Yet, he was shaves several times
not hurt in the least. a day still sport a
Why? long beard?

i What do an island How many
and the letter “t” letters are

have in common? in the alphabet?

The maker doesn’t want

& it; the buyer doesn’tuse
it, and the user doesn’t
see it. What s it?

ANSWERS: A: He was on the rung closes to the ground. Gravity!
B: They are both in the middle of water. C: A coffin.

ANSWERS: A: He's a barber. B: 11 letters are in “the alphabet.” C: ENT. One,
two, three..It's the first letter to every number counting up from one.
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John is a butcher.
Heis 5’ 10” tall and
wears a size 11 shoe.
What does he weigh?

A rope tied to a bull’sneck is

10 feet long and his food trough
is 15 feet away. How did the

bull eat successfully without
breaking the rope or cutting it?

ANSWERS: A: Meat. B: Walked over. The rope wasn't tied to anything beyond
the bull's neck. C: It didn't roll as roosters don't lay eggs. Hens do.
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If you have three, you have
three. If you have two, you
have two. But, if you have one,
you have none. What is it?

A barrel of water weighs
60 pounds. What must
you putin it for it to
weigh 40 pounds?




